SUMMARY PRACTICE TEST CHAPTER 12
1.

N = 10 

 (5 * 2 = 10 for 5 years compounded semiannually)

I% = 4

PV = –40000

PMT = 0 

FV = 0 alpha solve 48759.78




P/Y = 2








   

C/Y= 2

Answer:  FV (amount received at the end of 5 years) $48,759.78


2. 

N = 16 

 (8 * 2 = 16 for 8 years compounded semiannually)

I% = 6
PV = 0 alpha solve –31158.35

PMT = 0 

FV = 50000




P/Y = 2








   

C/Y= 2

Answer:  PV= Needs to deposit $31,158.35 today.

3.

N = 6 

 (3 * 2 = 6 for 3 years compounded semiannually)

I% = 5
PV = –30000

PMT = 0 

FV = 0 alpha solve 34790.80




P/Y = 2








   

C/Y= 2

At the end of 3 years (beginning of year 4), she has $34,790.80.

At the beginning of year 4, deposits additional $80,000. PV = $34,790.80 + $80,000 = $114,790.80
N = 6

 (3 * 2 = 6 for 3 years compounded semiannually)

I% = 5
PV = –114790.80
PMT = 0 

FV = 0 alpha solve 133122.14




P/Y = 2








   

C/Y= 2

At the end of year 6, she has $133,122.14.

4.

N = 12

 (6 * 2 = 12 for 6 years compounded semiannually)

I% = 5
PV = 0 alpha solve –22306.67
PMT = 0 

FV =30000



P/Y = 2








   

C/Y= 2
No, to have $30,000 in 6 years, he will need to invest $22,306.67.

OR
N = 12

 (6 * 2 = 12 for 6 years compounded semiannually)

I% = 5
PV = –20000 
PMT = 0 

FV = 0 alpha solve 26897.78


P/Y = 2








   

C/Y= 2
No, if he invests $20,000, he will have $26,897.78 in 6 years.

5. APY is always for 1 year

N = 4 

 (1 * 4 = 4 for 1 year compounded quarterly)

I% = 6
PV = –16000
PMT = 0 

FV = 0 alpha solve 16981.82


P/Y = 4








   

C/Y= 4

FV =  $16,981.82 

Compound Interest = $16,981.82 – $16,000 =  $981.82
Answer: APY = [image: image1.wmf]$981.82

$16,000

=.06136375 = 6.14% (rounded to hundredths percent)

6. 

N = 28

 (7 * 4 = 28 for 7 years compounded quarterly)

I% = 6
PV = 0 alpha solve –46136.95
PMT = 0 

FV = 70000



P/Y = 4








   

C/Y= 4

PV = amount needed to invest = $46,136.95
7.
Retirement age – current age = number of years money is invested = 60 – 40 = 20

N = 40

 (20 * 2 = 40 for 20 years compounded semiannually)

I% = 8
PV = 0 alpha solve –187460.14
PMT = 0 

FV = 900000



P/Y = 2








   

C/Y= 2

Bernie needs to set aside $187,460.14.

8.

N = 2190

 (6 * 365 = 2190 for 6 years compounded daily)

I% = 7
PV = –19000
PMT = 0 

FV = 0 alpha solve 28916.11


P/Y = 365








   

C/Y= 365

FV: $28,916.11
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